DLEHFLaA—IRA A )L5 5kefk

‘ NO- EEé 7?‘ ’-ﬁﬁ HERF R4 ‘ llﬂ]‘ﬁc ‘ ‘ﬁkb&%‘ ‘ ﬁy{‘% ‘ H{‘%
3
o
NS R
(WoB ok ) st | [1] momm w
1:27 IR KA ot
T B s = < d
7 93
g B BEEE ST
2:35 HEZE
8-0 NNl
A ORI S
5 u_”}g_\‘ *’Eﬁj' RS B 552 I
(@ A i ow) e | [a] wmm
6:00 T —H
7-8
4 @B% #/E\ K ST IR 5 — ST
(B omo o) 1:18 1] I
11-0 NP
i
5 %7‘( :fg I T R i 5 AR ——
(X B k) ST ﬂ I
REE TS
8-0
3 AT S T 5%
6 FhHET R B v & AR Vi
(% w1 4:35 ﬂ I R
5-6 & K
; ﬁ]]yj\( BRI
N ﬂ il b
3:00 & FRK
e o 10-2
g BB B wwwoemmsie — op
(& X% B 6:00
1-5
= .
I T S A
TR o
C# | f ) ST ﬂ B
1:16 B
. 0-9
" E\ﬁ% #]:J ROMSAHIRROEE o
(M| om o) 2:29 R
8-0 B
EHH EDSL ek
11 = Fq i‘* e AR R
Ciiomoo# F st | o] mesm
3:41 Sl AL
0-9 VT
N N EA TR S5
1o SLE *L%ﬁ RRUEATRRSTE s _ﬂ rerall
(F | # o) 2-4 EJUIE
N [u} Ny e g ks
o OB A s
ST J AR b
0:29 18] fﬂ
N, " 0-11
u U—l | ﬁ]}] L LI -
Cmowom ) 1:08 [16] mermin
0-8 Zl i
5 N B wennmsrn .
(= K %) VT ﬂ I IR
1:46 Zl i EREAE
= NE==N 7 8 IEL 7 o R 1 2 1 2 04
6 ?fé”—l %E WL ST R S ot
(B F # %)
J A TR I B 5 iz "k — = @EEH/LEK
2 [ NORROR OB R & 5 fr MK & fE R
3 fz #r MK wHoE R 5 fr Fg L REARIR
3 fr = A E K B 5 f{r ] u] A A 1R

16] R
Zll Wi




